
Follow me www.troax.com

Kit  36908260
A

rt no
: 88754628 ver. 01       P

rint no
: 201707-3597-E

N
A

rt
 n

o
: 8

87
54

62
8 

ve
r. 

01

Kit 369082604/4 www.troax.com

Machine
guarding

MGB 
Fixing 6

Euchner MGB

9

Bag for kit 8260

M6x100 M6

10

10

x7

11

12

Euchner MGB

Euchner MGB

Euchner MGB Euchner MGB

13 14
15

T10

T9

x7

M6x25
T10 T9

A
rt no

: 88754628 ver. 02       P
rint no

: 202005-3355-E
N

MGB +MGB2
CL Fixing 6

A
rt no

: 88754628 ver. 02



Kit 36908260Kit 36908260

Bag for kit 8260 88698260

Kit MGB Fixing 6 Euchner MGB

7

2/4 3/4www.troax.com www.troax.com

A
rt no

: 88754628 ver. 01 A
rt

 n
o

: 8
87

54
62

8 
ve

r. 
01

Ø4,8-5 5 mm 4 3 T10 T913 10

Striking plate
hinged 
MGB + ESL

Holder sheet
MGB + ESL

x1

x4

x15

M6x100

4,2x13

x2
M8x35

x4
M6x25

x6
M6x8

x1
Ø4,8x14

x2
M6

x4
M6

x2
M8

x1

1 3

6

7

8

4

4a
5

2

Bag for kit 8260 Bag for kit 
8260

Euchner MGB Bag for kit 8260 Euchner MGB

Euchner MGB

Euchner MGBEuchner MGB

M8x35 M8

4

3

5

T10

T10

13

M6x25

M6x8 M6

4b

4c

Mesh

PC

Steel

5 mm

5

3
A

rt no
: 88754628 ver. 02 A

rt
 n

o
: 8

87
54

62
8 

ve
r. 

02

x15
4,2x13 x2

M6x30


